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	Question Number
	Scheme
	Marks   

	
	
	

	1.
	(a) 2.35,   3.13,   4.01             (One or two correct B1 B0, all correct B1 B1)
	B1 B1

	
	Important: If part (a) is blank, or if answers have been crossed out and

no replacement answers are visible, please send to Review as ‘out of clip’.
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	    = 2.828
(awrt 2.83, allowed even after minor slips in values) 
	A1

	
	   The fractional answer 
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    Answers with no working score no marks.
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	M1 A1

	
	      Attempt to factorise 3-term quadratic, or to use the quadratic formula

      (see general principles at beginning of scheme). This mark may be

      implied by the correct solutions to the quadratic. 
	M1
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	      Completely correct solutions without working: full marks.
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	M1 A1        

	
	
	(2)

	
	(b) Substituting x = 4 into their 
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   Evidence from one of these terms is enough 
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	 Dividing at least one of the angles by 2
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                                             (Also allow 28.3 or 28.4, or awrt 28.3 or 28.4)
      (Condone 
[image: image50.wmf]2

35

.

28

 written instead of 
[image: image51.wmf]2

cm

35

.

28

)
	M1 A1

	
	
	(2)

	
	(c) 
[image: image52.wmf]9

7

.

0

tan

AC

=


	M1

	
	     
[image: image53.wmf]58

.

7

=

AC

  (Allow awrt)        NOT 7.59 (see below)
	A1

	
	
	(2)

	
	(d) Area of triangle AOC = 
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	Or:  Substitute x = 8 into original equation and verify.

Having additional solution(s) such as 
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	     N.B. The ‘= 0’ must be seen at some stage to score the final mark.
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	        If the subtraction is the ‘wrong way round’, the final A mark is lost.
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